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JINTROBUCTION 3

Labour, at all times,has been recognised as 2 seprate
factor of productions Any work whether mental or meaual, which
is undertaken for a gontotsary conslderation is called 'labour!
in Economics., There have been differences of opinion with
regard to,the importance of labour, but the fact remains that
ne production is possible without an efficient labour force.
Labour, hewever, is manifestly differeat from other factors of
production and has got certain chanc‘toﬁ.atics which given rise

to various problems in all countries., Labour is a living thing
and that pakes all the difference, Even if §t may be summerised

a6 .

1) Labour is insparable from the person of the labourer,

2) He sells his work only, but rema@ins his own property.

3) It is perxrishable in nature and hence it has no reserve
price.

4) The supply of labour is not inversely proportional to

its price ( wages )
5) Labour is not so mohkle as capital, it is not only a
factor of production but is also the ultimate end of

production,

6)Lastly, it being a human factor, not only economic but moral,
social and other consideration are to be taken into
a@ccount, labour problems thus have RmmY many aspects
economics,political psychological,sociological,legal
historical and administxative,
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All these pecutiarities given rise to many problems
cennected with labour, Whatever may be the system of administra-
wtion, without solving these problems productive efficiency will
suffer in every country. The growth of large scale enterpitise
in every country 1is an established fact and a distinct working
class has arisen everywhere. India 18 no exception, though the
development of an industrial working class is a comparatively
recent phynomenon in our country. As long as labour remains a
separate factor of production, the problems relating to 1t will

always exist,

It follows that labour problems do not arise under small
scale industries, where there are no employers and employees
because the various factors of production are supplled by one
and the same person, Labour movement everywhere has been the
preduct of the establlshment of large scale industries, in which
different factors of production, especially labour, to be suppli-
ed by different agents. Lvery a agent tries to get the largest
share in theproflts, and sc many differences and confliet arise,
This is because due to profit motive and due to the peculiarities
of labour mentioned above., There are greater chances for
exploitation of labour if the workers are not properly organised
or Govt., laws for the protection of labour are not sufficient
and effective. However, even in a sccialistic economy, there
can be a c¢lash between tho interests of the workers and interests

of the Government. The worker may agitate for hetter living
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ond workiag coaditiens or for highex wages. The wikers
agitetion rassulted out of this xwasons will give rise %0 the
problens of labaur uarest, latour tuznever, abseatesism and
nanwdays 1ot gt aecount of strikes It will prove & great
hindrance to achieve the goals of production, Labowr tumnover
and absentesiss is unaveidable in any Lfndustry. But proper
aanpower planaing and maintaining satisfactozy workforce

can cantrol the problem to sowe extent, Labour turnover
some extent is beneficlal because Lt axides from the faclors;
Such as voluntary quite, digschazges, narriages of female
workexs, promotions ox factors such as soasonal and cyclical
fluctuations in business, It causes W meke a flow of
onthusiastic and more effigient work foxree in the orgsnisstion
but to what exteat the labour turnover and absentecisa is bone~
ficial to the concemrn, is & problem of zesedrch W be made.
This gave rise % the present study of sogiological end
psycholeogical factors in the sobility and abeence conduct of
WORkers,
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The texm labourx is used in varieus ways, Any wexk
whether mentel ox manual whish Lo under taken for & gonetory
considesation 18 galled ' Labourt in Eqeaomics: Lgbour teday
Anchudes workers beth 8t hand and hedd whe wsk for others
for & given poyment in cosh or kind; Therefere, highly trained
or skilled teshaicians supervisors, claricals and saleried
staff axe as much & part of labour as ¥he unekilled oz senie

Semetines the term ‘*lebour® is used in & very broad
sense as tetal werking foxcge or labour ferce which includes
811 persons who wozk for & iiviag such &8s husswdives childexn,
old pexsons atee. Ia this sense labour {6 eynonymous with human
resources, However the ssnse ia wvhich the word “Labour® is
Ssed 1s genexally clesr from Sts contexty In short, labeur ia
& hea broad sense of the toxm nay be difined &8 * any hand or
broin wosk, which is wader takea for menetsxy eonsideration®,

N Saka JHONAS ¢

* Lebour gonsists of all huma efforts of bedy or
of mind which 1s undertaken in the expestation of Teward,
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2) THE FACTORIES (ANENDMENT) ACT 1976, *

* workexr means a person employed directly or by or
through any agency including a contractor with or without the
knowledge of the principal employer whether for wages or not
in any wanufacturing process or in cleaning any part of the
machinezy or premises used for a manufacturing process or in
any other kind of work incidental to or connected with the
manufacturing process, But does pot include any member of the
armed forces of the union.*

Critically spedking " Industrial lsbour® should stand
for all labour engsged in laxrge sad small iadustrial estotisiments
Ancluding cottage industries, Hovever in Indis the tem is used
in & restricted sense to xefer t those workers who are mmployed
in organised industries, that Ls those industrial establistaents
which are covered by the factories Act. Those workers whe are
engaged in cottage Sadustries are excluded,




Labouxr Turnover 1s to be clearly distingulsed from
absenteelsm Bechuse it measures the change of personnsl of
workers in an industirial establishment, while the absentecimm
measures the extent to which the workexs fail to attend to their
regular work, Thus labour turncver is defined by the various
authorities in the subject as follows ,

1)
Labour Tuznover is the rate of change in the working
staff of a concemn during a definite peried ,

2) The committee of American Management Association defined
1abour turnover * as the extent of shifta and rxéplacement of
labour occuring in the maintenance of the working force, *

3) Scott, CRothier,Spriegel s= " Net labour turnover is
defined as the aumber of replacements per hundred workers in the
average working foxrce,
4) Salde MENQRLIA

® Labour turnover is a measuye of the extent to which old
employecs leave and new employees enter into sexvice ia a given

period, 1t is sometimes defined as a measurement of inarticulate
labour unrest %,

5)

"lebour turnover 1s the replacement rete of employees in
& fim, or the tota]l number of workers replaced in an organisation®.



Human beings are perfact machines endowed with the powers
of reasoning with proper maintensnce, machines pexformm their
duties ungroundiagly. To be efficient human beings require
adequate scepe, display of imagination and security of prospects
for the future, The management of human beings has to be with
& purpose and has to cater to all the above needs, In this way

efficient management tries to contrxol the evil effects ,f ladbour
turnover,

Mgnagement 13 interested in labour turnover, not oaly
from the point of view of the cost of replaging the men who
leave, but also from the point of view of the cost of lessened
interest and effectiveness throughout the orxganisation,

Labour tummover g8 highest among new employees., This

fact emphasises the importance of preper selection, induction
and treining,



The significance of the problem of labour tumover in
the workforce andiysis cannot be appreciated unless it is
statistically expressed, It has bees variously interpreted and
measured at differsnt times., These various foxmuls involve such
tems as 1) Accessions (A)
2) Separations (&)
3) Replacements (R)
and 4) Average working force (W)

Accessions mean the additions to the pay ryoll during a
paxticular period.

a) Avgidable separations like wvoluntary quits, discharges etc.
b) Unavoidable separations (U) like death, marriage in case of
fenale workers, long illnecs, removal from area, military

seoxvice etc,
Replacements mean one accession plus one separation,

- Average working force means the average number of employees
on pay roll, Labour turnever (T) is computed in the following ways,

1)

Total acp;ammts

Average working force
100 R
T = C—————

L}
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It has been argued in favour of the above formula that
it is the replacement figure that provides & picture of the
movement of the workers in and out of the employment, On this
basis, labour turnover occurs only when 8 successor has been
brought in place of the worker who has left the organisation
Angther redson advanced against replacement basis of index is
that 1t appears in both numerator and denominator in the case
of increasing staff, Thus labour tumover bésed upon separiw
-tion 18 taken tn moxe representative than the one based on

Treplacemants,

2) ACCORDING TU TOTAL SESARATIONS 1

Total separations
T = . x 100
Averate wosking Force.

100 S
W

T =

Here the labour turmover is computed with reference to
total separation regardless of thelr causes.

3) ACURDING TU TOTAL AVOIDABIE SEPARATIONS 3

A moxe refined labour turnover rate may be established
by deducting unavoidable separation from total sepaxl_tions.

Beparations ~ Unavoidable seporations X 100

T =
Averdge working Force

100 ( S -U )
]




The labeur tamover here excludes perscns whe Aze leaving
for reasens beyend the contxol of nandgement, sush as death,
marziasge ia cose of female workers, pzolonged Llliness, drafting
into the armed forced ets,

4)

r:a..a*.&%h&.lx&

A = Accevsien
& = Separstion
Pt & PR » Total mumber of employees 2t the bagining
and 2t the end of aonth respectively.
M = Number of days in the menth for which the figures
are shisined,

This is the videly accepted formula, This formuls ie
givan by the U.S. Bureim of latour statisties: Acosxding
this sormmla, during & period of nermal business, when the
wazking feres is remsining stationaxy as te atals, the
sgcession Tate, separstion rate and lobouxr turagver rets are



The csuses of 1adour turmever Arxe sumbsxous and sty be
clsasified fxom d floxent ngles, In first they ot be slassified
s avoidable ad wnaveidable labour taznevas.

8) Avoldable tuzmever refers % rxeaignations, dimiscals and
1y offs;
») Unaveddable tusmavex asrises bessuse of death, zetirmment,

mexriage fractional uneapleyment; mitilexy or anations)
sexvice:

Alternatively, thesse o kinds of tusnever ceuld be termed
as voluntazy aad iaveluntssy tusnever,

According o vaxtous factors ganezating lahour turmever ,
the causes mey be classified 2as fellews 3

Y

o)

Aandustrial deprecalon,

Seasonal fluctuations 1a volume of business,
Completion of tmaperery jebe.

Change Ln the industxial processy

Dl scontinuance of the businees

2) Chuses relating to the job s

They relats to the nature of work, lewer wiges,peor

waking conditions, unsatisfactory epportunitfes for advancement
Snd ineccessibility of working place of the wozkers' home,



3)

Due to poor wexking conditions and dissatisfaction with
wozk the velations between eaployes and employer are sffected.
It give bizth to strike go-slow which in turn give xise %@
dismtesals due to disciplinazy agtien,

Seometines the worker leaves his present job on account of
dissgreeable relations with fellow workers. Sometimes the
workers are victimbbed on account of their participation in the
union activities, Such workers tends to lsave their preseat
Job.

These include workers' poor health,sccidents, death
supperannuation, marriage sad deslre to change work. As
sentioned earlier, some of these are unavoidable and natural
CHUSES .

8)

The attraction of high wage rates and other benefits
have always tempted workexrs %t migrate from factory te factory.
Also the labour tumnover fs the result of availability of
attractive jobs at places other than own places or work.



The policy of recruitment followed by the empleyer has
alse affected labour turmmover to & considexsable sxtent, Selection
of workers must be made on the principle of * right man in the
right place ", '

In the absence of well conceived promotional pelicy %
consexve existing human power befoze recxuiting outside, the

workers lose incentives to stick to thelix jobs feor leag.

8)

in & Joint family, the adult wxkers de industrial woxk
in xotation in oxder ts msintaia contact with both industry and
agriculture., The female wrkexs also sometimes leave their
Jobs in the perxiod of pregancy and agsin join some establishment
after the peried is over.



Laboux tuznover i3 8t Ace the csuse md effect of
inetability of employment: Some Smount of albour tuznover 4
Anevitable like retirement ,f aged workers, death etc. To seme
extent this ,aturel tuznover 4s welcomed pechuse it arises due
to retirement of aged workers and accession of fresh bloed.
But the percentage of such turnover is very mumttlm
tuxnover Ls due to resignations and dimmissals and & higher
zate of Wrnover becomes harmful te the sffbelency of the
organisation,

Avgidable labour turnover has 90 many evil sffects on
the mmployer, smployses and the seciety, in general, These may
be Summerised as follows 3

1) Labouzr turmever incriesses the cost of recruitment of
labour;

2) The workers are deprived of yarious advanitges of
continued amployment, such as opportunities of greded
pay, binus, providend Fund and leave facilities.

3) The oxganisation suffers frem creating & stable working
force which has a value like loyalty, spirit of co-
eperation and skill. This cannot be metsured in financial
texms,
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The oversll efficiency of the orgtnisation is not
maintained at preper level which results in low
produstivity and heace low wage rates %o the workexs,
which in tuxa create labour tuzraover,

Lgbour turnover is & serious obastacle to the complete
utlisation of & country's human and material reasurces.



As pointed out, labour tumnover is very underiable
becduse 1t leads to lower efficienty and diminished sutput
for the industyy. Hence some meksures have to bde adoptid for
reducing labour tumover. One cannot contrél natural labour
turnover te the great extent but it is possible to contrel
avoidable turmmover to some extent.

Foxr this purpose the employer himself must reslise
the consequences of labour turnover and should take intiative
to use the measures to reduce labour turnover. Some of them
are listed as below,

1) He should lmprove the system of recrultment of labour
Recrul tment through agents and jobbers give much scope
for curruption and bYiberyj which may become & cause
of labour turnover.

2) Employer should adopt measures such as to improve
the economic position ofthe workers and also give
them securlity of employment.

Besides these he should improve the working conditions
of each and every labourer which will give satisfaction to
the workers and compel them to stick to the old job for a long

time.



3)

4)

%)
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The Badali control system can also reduce labour

tarnover,

As pointed out by Bombay, Textile Labour Ecquiry
sonmi ttee, improvement in methods of recruitment
is one of the principal remedies for excessive
Labour turnover, and some radical changes required
such as establishaent of employment exchanges
restrictions on the power of the jobbers and proper
oxganisation of persoanc) department,

Improvement of working conditions, welfare activities
soclial insurance schmmes, leave and holidays, better
wages, worker's participation in management etc., will
also make the labour force stable.



A praper understanding of preblen of absentesiam should
Degin with clexifiension of the eencept Atself. Vezy sften the
toxn abssnteciom 48 Need S0 dencie any absense frem wik whether
authori sed or watutherised, At tines At signifies enly wae
suthori sed sbeense,

A wozker $s marked absont when he falls to repert for
Sty on & day when he L8 expected % be pressnt. 1If he dees
At eoek 3z prier premiscion the worker lestses wiges aad xiske
dissipiinazy setien againat hing Becsuse of Whis wrexpectoed
absence of werker the upaay might suffer dislesation of werk
oF 1oss of produstiion due %o Lile machine. IA essence it renains
& problem of decijiline,

Howeyer 2 waxker sannot be treated as abaent wvhen he
absentalins frem work o the strangth of siek cextigsisate frem
Baiele Doctox; In such & case he L3 grented leave expest fact
by the campany for & peried he stayed Swey frem work, Mt
though the absenees of wozher fxom duty is genulne, & higher zete
of sickness dmong the werkfores will certainly dislocate the
produstion schedules. Therefore the miasgenent csanot rendin
sasoncerned about 4%,



Absentecim has beea variously defined py diffexent

suthorities. Some of them are given belew.

1)

2)

3)

4

3)

* Absentecism is the préctise or habit of belng sa
'abasentee' and an ‘absentec’ is gne wheo habitually
stays away”,

SABOUR RUREAU SINLA

* Absenteeisa is the total pén shifts Jest because of

absences 43 a2 percentage of the total aumber of nanshifts
scheduled to work “.

Sals MENORIA +

"Absebtecism signifies the absences of an employee fron
wozk he is scheduled to be at woxk *;

* Alsenteeim signifies the absence of an employee from
work that is unsuthorised, unexplained, avoidable and
wilful.*

* A temporaty cessation of work for not less théa one
whole working day, on the inlitiative of the werkera,
when his presence is expected.”



"A ratio of the number of production man-days or
shifts lost to the total number of production manw
days or shifts scheduled to work."

6)
Absontesism rate refers to "the total man-shifts
lost becaute as a percentage of the total man-shifts
scheduled,”’

7)
BRISM AS 1
"The failure of workex to vrepoxt for work when he is
scheduled to work,"

8)

"Total sane-ghifts lost because of sbsences 8s &

percentage of the total number of man-shifte scheduled.”



Absentecimm signifies the absence of an mmployee from
work that is unsuthozrised, unexplained, aveidable and wilful,
A worker who reports fox any paxt of a shift it‘ to be considered
as present, Thus absence is the failure of & worker to report
for work when he is ascheduled to wozk. A workex is considered
as scheduled to work whea the employer has work aveilable for
hinm and the wozker is aware of i, and whan the employer his
ne reason to expect well in advance, that the mmployee will
not be available for wozk at the specified time.

For caleulating the rate of absenteciom, two facts
a:go required 3 1. %the number of persons scheduled to work.
2. the aumber of workers actually present.

Thus the rate of absenteeism can be estinmated by the
following formula we
No. of daily absentees during peried
Absentesisn Rate » - . — - x 100
(Ne. of smployees) x (No. of wozking days)

hile calculating the rate of absentesisnm the
absonces on account of the following points axre to be excluded -

t. Regularly Scheduled Vacations .
2, Ordered lay off: |

3. Strikes .

4. Privilage leave



36

%. Absence after dismissal,

6. Ex post facto regularised period of over stay following
authoxrised leave,

The standard formula to calculate the absentecism rate
is the ratio of number of manshifte lost due to absences iy
the aumber of manshifts scheduled to work. The labour Buresu
uses this formula,

Absentecisn Rate = Manshifts ;ost due to Absences X 100
Manshifts Scheduled to work

This forxmula is used in this study. Mr.K.N. Vaid
modified the above formula only because this formula unded
stimates the absentecisn rate cue to inflated divisor and
hence he suggested some following fommula,

Pexsons not working due to Authorised

Absence Rate = Absence + Unauthorised Absence. X 100

Manshifts actually worked.

Persons not working due to unautho-
Absenteeism Rate w _~1ised Absence .

Manshifts agtually worked,

X 100

Persons not wxrking due to cemfified
- Sickness Rate = sick leave.

Manshifts actually worked,

X 100
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Persons not working due to authorised
Authorised Leave Rate = _Lgave othax than sickness X 100
Manshifts actually worked.

( Papers on Absenteeisa K.N. Vaid, Paper I )

As badli offs are allowed by the management aad
casuals are available because of mutual adjustment ka the
factory genexally find it possible to fill in all: vacancies
and allow nc machine to remein idle, Loss of production due
to machine 1dleness is only an exception. Hence man shifts
actually worked equals the manshifis scheduled to work, both
ia theoxy and in practice. Therefore the rate of ahsence,
A, absenteelsm, sickness and authorised leave are
calculated py taking the divisor as manshifts scheduled to
work.



The workers yemain absent foxr varhous reasens of which
some mdy be genuine, Sickness is respensible for a considexable
pirt of absentecism at most places, The law vitality of the
Indianworkdxs combined with bad housing and insanitazy
conditions of 1iving, makes them an olsy pxey to many epidemies.

Besides, there is & grettar pexcentiges of absentesiom
duriag the aight shifts than in the day shifts, owing to the
greater disconfort of woxk during anight time,

The most important c2uses of absentesiam may be
summerised as below,

1 Raral exedus, 2} Harvesting and sewing of cxeps.

3. Social and religious ceremenies, 4) Industrial accidents

5) Drinking and Gambling habit. 6) Insanitary living
conditions, 7) Dissatisfactory working, conditions,

8. Shortage of accemedation, 9) Hagardous nature of work,

Absentecism has been found te be higher among women
than aen due to women's household duties, maternity leave ste.
Desides the level of absenteciam {s comparatively high Limedia-
~tely after the pay day., Last but not the least, unatiractive
working oconditions, ynder ground work in coal mines is alse

Te¢a30NS for absenteeism,



39

labour sbaeateeism results Lin production losses,
Ancreases labour costs, and reduces efficiengy of opexstions,
It foxces enterprises to mploy more hande than the jobs
Tequire which ingyeases direct overhead cests, Additional
expenses have to be lncurxed oa reciulitment and providing
sexviges fox the labour.

The efficlency of plant operations is affected {n
ssveral ways. Manpower planning g5 rendered impossible by aa
uncertain and fluctuating workforxce. Inexperienced and csusal
operatives increase nmachine down time, rejects the product
and magatenance and supervisory inputs. If all the aferesaid.
lesses and additional costs are t be expressed in tems of
mady, the figures will be alapming.

inqant absence from work is @ great handicap %o
workexs also as " No work Ao pay " is usyally the rule the
income 18 reduced and poor workers become still poorer. Heace
the health and efficiency of workers s affected.



The proplem of absenteeism does not become heads ce for
the management. Theresore it should he contrelled at the propex
stage. Due caxe must taken in respect of ynauthorised absence.

New Yoxrk Telephone company suggests the following steps
for overcoming the pwoblem of absenteel sm,

1) AMQULRE 3
Welcome the employer back to the job and Laquire the
reason for his absence,

2)  INVESTIGAIE 3

As repeated sbsence ¢alls for a probe and in case the
employee {8 not well, he should pe referred to the doctor,

3) QUAMSEL 3
Discuss if ynexcused absence continues and make him
aware of management policy.

4) BARN 3
This involves revieowing the case at the executive level
and waning the employee absut losing hls job.

5) THREATEN 3
when the position remains wnchanged final wazning should

be issued,
6) BLSMISS &
On the approval of managenent renove the sexvices of
the employee when he reports back, ’ ,‘;ﬁ'«{ '“‘“C?ifi |
» Peraonnel Management & Industrial Relations ﬁ
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